
TREKKER FRONT BUMPER 
(2020-2022+ GLADIATOR JT) 

INSTALLATION INSTRUCTIONS 

CONTENTS 

(1) Front Bumper
(2) 3/4" D-Rings

(2) Fog Light Brackets

(4) M12 x 1.75 Stud Plates

(4) M12 x 1.75 Hex Bolts

(4) M12 x 1.75 Nuts
(8) M 12 Flat Washers

(8) M 12 Lock Washers
(8) Ml0 x 1.50 x 30mm Hex Bolts

(8) Ml0 Nuts
(8) M 10 Lock Washers
(16) M 10 Flat Washers

(12) M4 x 0.7 x 15mm Allen Bolts

(8) M4 x 0.7 Nuts
(20) M4 Flat Washers

(12) M4 Lock Washers

TOOLS REQUIRED 

7mm Socket 
8mm Socket 

16mm Socket 
18mm Socket 
Socket Wrench 

Panel Removal Tool 

SKU # JG19733 
Edited: 08/29/2022 














	J164365 - Jeep - Trekker Front Bumper (20-22+ Gladiator)-01
	J164365 - Jeep - Trekker Front Bumper (20-22+ Gladiator)-02
	J164365 - Jeep - Trekker Front Bumper (20-22+ Gladiator)-03
	J164365 - Jeep - Trekker Front Bumper (20-22+ Gladiator)-04
	J164365 - Jeep - Trekker Front Bumper (20-22+ Gladiator)-05
	J164365 - Jeep - Trekker Front Bumper (20-22+ Gladiator)-06
	J164365 - Jeep - Trekker Front Bumper (20-22+ Gladiator)-07

